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E–1096 

M. Sc. (Home Science) (Third Semester)   

EXAMINATION, Dec.-Jan., 2020-21 

(Human Development) 

Paper Tenth 

ADVANCED STUDY IN HUMAN DEVELOPMENT 

Time : Three Hours ]  [ Maximum Marks : 80 

[ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- fodklkRed euksfoKku dk mís’; D;k gS \ 

¼v½ fodkl dk o.kZu djuk 
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¼c½ fodkl dh O;k[;k djuk 

¼l½ fodkl dks vHkh”V :i nsuk 

¼n½ mi;qZDr lHkh 

What is the goal of developmental psychology ? 

(a) Description of development 

(b) Explaining development 

(c) Optimizing development 

(d) All of the above 

2- fodkl dh fdruh voLFkk,¡ gSa \ 

¼v½ 5 

¼c½ 7 

¼l½ 8 

¼n½ 9 

Development has how many stages ? 

(a) 5 

(b) 7 

(c) 8 

(d) 9 

3- ekufld ifjiDork yM+fd;ksa esa yM+dksa ls igys iznf’kZr gksrh gSA 

¼v½ lgh  

¼c½ xyr 

Mental maturity occurs in girls before boys. 

(a) Yes 

(b) No 
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4- bne~ 
---------------------

 ds fy, tkuk tkrk gSA 

¼v½ fu;a=.k 

¼c½ bPNk 

¼l½ lek;kstu 

¼n½ ÅtkZ 

Id is known for ........... . 

(a) Control 

(b) Desires 

(c) Adjustment 

(d) Energy 

5- xq.klw=ksa dh jpuk fdlls gksrh gS \ 

¼v½ jlk;u ls 

¼c½ DNA ls 

¼l½ isf’k;ksa ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

Chromosomes are composed from : 

(a) Chemicals 

(b) DNA 

(c) Muscles 

(d) None of the above 

6- XY xq.klw=ksa ds esy ls D;k larku gksxh \ 

¼v½ yM+dk 

¼c½ yM+dh 

What issue would be produced from XY chromosomes ? 

(a) Boy 

(b) Girl 
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7- ^ifjiDork* ‘kCn dk mi;ksx lcls igys fdlus fd;k \ 

¼v½ oqMoFkZ 

¼c½ xslsy 

¼l½ flEilu 

¼n½ ckoj 

Who used the term „maturation‟ for the first time ? 

(a) Woodworth 

(b) Gessell 

(c) Simpson 

(d) Bower 

8- xHkkZ/kku ds i’pkr~ dksf’kdk foHkktu 
-------------------

 ds ckn izkjEHk gksrk gSA 

¼v½ 10 ?k.Vs 

¼c½ 48 ?k.Vs 

¼l½ 8 lIrkg 

¼n½ 24 ?k.Vs 

The division of cell after fertilization starts after ............. . 

(a) 10 hours 

(b) 48 hours 

(c) 8 weeks 

(d) 24 hours 

9- laosnh lwpukvksa dks vFkZ iznku djuk 
-----------------------

 gSA 

¼v½ laKku 

¼c½ cks/k 

¼l½ izR;{khdj.k 

¼n½ lEizR;; 
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Interpreting sensory information is ............ . 

(a) Cognition 

(b) Understand 

(c) Perception 

(d) Concept 

10- cPpksa esa jaxksa ds izfr ftKklk iznf’kZr gksrh gS % 

¼v½ 5&6 ekg dh mez ls 

¼c½ tUe ls  

¼l½ 3&4 ekg dh mez ls 

¼n½ 1 o”kZ dh mez ls 

The curiousity for colours in children appear during : 

(a) 5-6 months 

(b) At the time of birth 

(c) 3-4 months 

(d) 1 year 

11- cPpksa esa ewrZ oLrqvksa dh le> dh ;ksX;rk 
-----------------------

 esa vk tkrh gSA 

¼v½ 3&4 o”kZ 

¼c½ 5&6 o”kZ 

¼l½ 7&8 o”kZ 

¼n½ 4&5 o”kZ 

Children become able to understand concrete objects with  

in ............ .  

(a) 3-4 years 

(b) 5-6 years 

(c) 7-8 years 

(d) 4-5 years 
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12- cPpksa esa le; izR;{khdj.k dh izkjafHkd ;ksX;rk 
--------------------

 esa iznf’kZr gksrh 

gSA 

¼v½ 2&3 o”kZ 

¼c½ 6&7 o”kZ 

¼l½ 4&5 o”kZ 

¼n½ 8&10 o”kZ 

The initial ability of time estimation in children begins 

during .............. . 

(a) 2-3 years 

(b) 6-7 years 

(c) 4-5 years 

(d) 8-10 years 

13- fd’kksjkoLFkk dk izlkj 
----------------------

 ls 
-----------------------

 o”kZ rd gksrk gSA 

¼v½ 11&16 

¼c½ 10&18 

¼l½ 15&20 

¼n½ 11&21 

The adolescence extends from ............ to ........... years. 

(a) 11-16 

(b) 10-18 

(c) 15-20 

(d) 11-21 
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14- ßfd’kksjkoLFkk ‘kS’kokoLFkk dh iqujkòfŸk gSAÞ ;g fdlus dgk gS \ 

¼v½ gjykWd 

¼c½ esfjfMFk 

¼l½ tksUl 

¼n½ fi;kts 

“The adolescence is the reoccurrence of infancy.” Who said 

it ? 

(a) Hurlock 

(b) Meredith 

(c) Jones 

(d) Piaget 

15- izkS<+ fdls dgk tk,xk \ 

¼v½ ;qok 

¼c½ ‘kkjhfjd :i ls ifjiDo 

¼l½ iw.kZr% LFkkfir O;fDr 

¼n½ lekt esa mŸkjnkf;Ro fuHkkus esa l{ke 

Who can be called adult ? 

(a) Young 

(b) Physically matured 

(c) Well settled man 

(d) Ready to assume status in society 
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16- ^e/;thou ladV* 
---------------------

 dh igpku gSA 

¼v½ fd’kksjkoLFkk 

¼c½ izkS<+koLFkk 

¼l½ e/;koLFkk 

¼n½ o)̀koLFkk 

„Mid-life crisis‟ is the feature of ............ . 

(a) Adolescence 

(b) Adulthood 

(c) Middle age 

(d) Old age 

17- vk;q ds lkFk gksus okyk og ifjorZu tks {kerk esa deh ykrk gS] dgk 

tkrk gS % 

¼v½ tj.k ¼o;òf)½ 

¼c½ izxkeh ifjorZu 

¼l½ fodklkRed ifjorZu 

¼n½ mi;qZDr lHkh 

Changes with age leading to decreased power, is called : 

(a) Ageing 

(b) Progressive change 

(c) Developmental change 

(d) All of the above 

18- o)̀koLFkk ds fy, rS;kj dj ysus dk ifj.kke gksrk gS % 

¼v½ vPNk LokLF; 

¼c½ vPNk lek;kstu 

¼l½ fujk’kk 

¼n½ vkRefo’okl 
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Preparing for old age leads to : 

(a) Good health 

(b) Good adjustment 

(c) Pressimism 

(d) Self-confidence 

19- oS;fDrdrk gS % 

¼v½ O;fDrRo 

¼c½ fo’ks”k y{k.k 

¼l½ lokZf/kd izeq[k fo’ks”krk 

¼n½ ‘khyxq.k 

Individuality is : 

(a) Personality 

(b) Special feature 

(c) Outstanding characteristics 

(d) Traits 

20- ßO;fDrRo ds fodkl esa ifjokj dk izFke LFkku gSAÞ ;g fdlus dgk \ 

¼v½ gMlu 

¼c½ gSfjlu 

¼l½ gSfoxgLVZ 

¼n½ gjykWd 
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“Family stands first in the development of personality.” Who 

said it ? 

(a) Hudson 

(b) Harrison 

(c) Havighurst 

(d) Hurlock 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- fodkl dk ,d fuf’pr izfreku gksrk gS] le>kb;sA 

Explain the development follows a definite pattern. 

2- fyfcMks D;k gS \ le>kb;sA 

What is Libido ? Explain. 

3- tUeiwoZ ¼xHkZdkyhu½ i;kZoj.k dk izHkko le>kb;sA 

Explain the effects of prenatal environment. 

4- ckY;koLFkk dks fdrus Hkkxksa esa ck¡Vk x;k gS] fyf[k;sA 

Write the how many parts of childhood are divided. 

5- ^rwQku ,oa izfrcy* dk vFkZ le>kb;sA 

Explain the meaning of storm and stress. 

6- izkS<+koLFkk esa ^fe=rk esa ifjorZu* dks le>kb;sA 

Explain the „Change in friendships‟ during adulthood. 

7- tj.k ls vki D;k le>rs gSa \ 

What do you mean by ageing ? 
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8- o)̀koLFkk esa oS;fDrd fHkUurk dks le>kb;sA 

Explain the individual difference in old age. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- mŸkj&ckY;koLFkk ds fodklkRed dk;Z fyf[k,A 

Write the developmental task during later childhood. 

2- fodkl dh vof/k esa ifjorZuksa ds izdkj fyf[k,A 

Write the types of changes during stages of development. 

3- ifjiDork D;k gS \ fodkl esa bldh Hkwfedk Li”V dhft,A 

What is maturity ? Explain its role importance in 

development. 

4- iwoZ ckY;koLFkk esa [ksy ds izdkj fyf[k,A 

Write the types of play in Early Childhood. 

5- fd’kksjkoLFkk esa ‘kkjhfjd ifjorZu dks le>kb;sA 

Explain the physical changes during adolescence. 

6- fd’kksjkoLFkk esa ifjokj dk izHkko le>kb;sA 

Explain the effect of family during adolescence. 

7- iqufoZokg dks le>kb;sA 

Explain the remarriage. 

8- o)̀koLFkk esa ikfjokfjd lek;kstu dks le>kb;sA 

Explain the family adjustment in old age. 
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(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- of̀) ,oa fodkl esa vUrj le>kb;sA 

Explain the difference between growth and development. 

2- e/;&ckY;koLFkk esa O;fDrRo fodkl dks le>kb;sA 

Explain the personality development during middle 

childhood. 

3- iwoZ&izkS<+koLFkk esa oSokfgd lek;kstu dks le>kb;s ¼20&35 o”kZ½A 

Explain the marital adjustment during young adulthood  

(20-35 years). 

4- o)̀koLFkk dh izeq[k leL;k,¡ fyf[k,A 

Write the major problems in old age. 
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